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Βασίζεται Στις 

Ταυτότητες: Παραδείγματα 

• 𝜒2 + 6𝜒 + 9 = 

   𝜒2
+2∙ 3 ∙ 𝜒 + 32 = 𝜒 + 3 2

 

• 9𝜒2 − 12𝜒𝜓 + 4𝜓2 = 3𝜒 2 − 2 ∙ 3𝜒 ∙ 2𝜓 + 2𝜓 2 = (3𝜒 − 2𝜓)2
 

 

𝜶𝟐 + 𝟐𝜶𝜷 + 𝜷𝟐
=(𝜶 + 𝜷)𝟐

 𝜶𝟐 − 𝟐𝜶𝜷 + 𝜷𝟐
=(𝜶 − 𝜷)𝟐

 



Να  
παραγοντοποιηθούν  

τα  παρακάτω: 
 

 

• α) 𝜆2
 + 4∙λ∙κ + 4𝜅2

 = 

 

• β) 16𝜒2
 + 40∙χ∙ψ + 25𝜓2

 =  

 

• γ)  2𝜒2
 – 2 6 χ∙ψ +3𝜓2

 = 

 

• δ) (χ+3)2
 – 4∙(χ+3)∙ψ + 4𝜓2

 = 

 

• ε) 4 + 4∙(χ-ψ) + (χ−ψ)2
= 

 



 

  

α) 𝝀𝟐
 + 4∙λ∙κ + 4𝜿𝟐

 = 

Λύση: 
 

𝝀𝟐 + 4 ∙ λ ∙ κ + 4𝜿𝟐 = 

 𝝀𝟐 + 𝟐 ∙ 𝝀 ∙ 𝟐𝜿 + 𝟐𝜿 𝟐 = 

 (𝝀 + 𝟐𝜿)𝟐
 



 

 

Β)16𝝌𝟐
 + 40∙χ∙ψ + 25𝝍𝟐

= 

Λύση: 
 

16𝝌𝟐
 + 40∙χ∙ψ + 25𝝍𝟐

=  

 (𝟒𝛘)𝟐+𝟐 ∙ 𝟒𝛘 ∙ 𝟓𝛙 + 𝟓𝛙 𝟐 = 

 (𝟒𝛘 + 𝟓𝛙)𝟐
 

 

 

 



 

γ)  2𝝌𝟐
 – 2 𝟔 χ∙ψ +3𝝍𝟐

 = 

Λύση: 
 

2𝝌𝟐
 – 2 𝟔 χ∙ψ +3𝝍𝟐

 = 

 ( 𝟐𝝌)𝟐−𝟐 ∙ 𝟐𝝌 ∙ 𝟑𝝍 + 𝟑𝝍 𝟐 = 

 ( 𝟐𝝌 − 𝟑𝝍)𝟐
 



 

δ) (χ+3)𝟐
 – 4∙(χ+3)∙ψ + 4𝝍𝟐

= 

Λύση 

(χ+3)𝟐
 – 4∙(χ+3)∙ψ + 4𝝍𝟐 = 

  (χ+3)𝟐
-2∙(χ+3)∙ 𝟐ψ+(𝟐𝝍)𝟐= 

 [ 𝝌 + 𝟑 − 𝟐𝝍]𝟐
= (𝝌 + 𝟑 − 𝟐𝝍)𝟐

 

 



 

ε) 4 + 4∙(χ-ψ) + (χ−ψ)𝟐
= 

Λύση: 

4 + 4∙(χ-ψ) + (χ−ψ)𝟐
= 

 𝟐𝟐 + 𝟐 ∙ 𝟐 ∙ 𝛘 − 𝛙 + 𝛘 − 𝛙 𝟐 = 

 [𝟐 + 𝛘 − 𝛙 ]𝟐
=(𝟐 + 𝒙 − 𝝍)𝟐

 


